SUMO YormV SHUNTS

A i OWER ALL LEMGTH (BRASS)

At = LENGTH ©F BRASZ PIECE

E R WIDTH OF BRASS PIECE

C i THICKWESS OF ERASS FICECE

[ = DISTAMCE APART — CURREMT & MOUNTING BOLTS
E e DISTANGE AFART — FOTENTIAL CONMECTION

b = PANGANIN  RIEBBEOM

% e MUMEBER OF MANGANIN RIBBOM BLADES
M — SILYER SCOLDERED JOIMT
X == SIZE — CURRENT & MOUNTING BOLT HOLES
T — POTENTIAL CONMMECTION — M4 CH. HD. BRASS SCREW w/WASHER
AMP | A A B G D E i A FAILLI-CHI
a g0 28 12.7 .58 | 635:5 A3 Wire 6.7 15.0000
10 a0 3 1207 &30 | 6.5 23 Wire 6.7 F.5000
15 g0 28 12.7 g8:35h | 635 23 1 6.7 5.0000
20 a0 28 12.7 8135 | BAE a3 1 6.7 LRFAa B
25 a0 28 12.7 B:25 | B35 23 1 6.7 2.0000
a0 a0 28 1207 835 | 635 33 1 6.7 2.5000
40 a0 28 12.7 g8:35 | 63:5 23 1 6.7 1.8750
a0 a0 28 12.7 8135 | BAE a3 1 6.7 1.5000
G0 g0 28 16 & Ba.5 23 1 i 1.2500
5 Al 28 16 & 63.5 33 1 8.5 1.0000
100 a4 30 20 ) 62.5 23 1 .5 0. /500
150 a4 A0 20 & B35 23 2 .5 05000
200 100 38 20 ) L] 23 Z 11 0.3750
250 100 38 20 ) FiE] 23 2 11 0. 3000
A0 100 38 20 12 73 23 2 11 0.2500
400 100 A8 20 12 5] 23 2 11 D. 1875
00 100 A8 25 12 5] 33 i 11 01500
S0U 190 38 A0 12 FiE! 23 Z 1 01250
7o) 100 ls) 4L) 12 Fis) 5] 2 11 L, TR0
1000 100 s =N 12 Fad o) 2 11 0073500

MOTE :© ALL DIMENIION ARE M Mbd. DIMEMSIONS:  SURJECT TO CHAMNGE WITHOUT MNOTICE




SUMO YormV SHUNTS

Mo — MANGANIN RIBBON

No— SILYER SOLDERED JOINT

Y- POTENTIAL CONMECTION — M4 CH. HD. BRASS SCREW w/WASHER
AMP | A B & FAILLI-COHRA
1200 | 60 11 33 0.06250
1250 | 60 11 33 0.06000
1500 | 75 185 | 38 0.05000
1750 | 85 | 235 | 38 0.04286
2000 | a5 | 225 | 5O 0.03750
2500 | 100 | 25 50 0.03000
3000 | 120 | 30 60 0.02500
3500 | 120 | 30 60 0.02143

MOTE : ALL DIMENSION ARE M Mbd. DIMENSIONS:  SUBJECT TO CHANGE WITHOLUT MNOTICE




SUMO YormV SHUNTTS

G20.5 X Bnos

BEASS BLOGK

Iﬁg M

tANGANIMN RIBEEOMN
SILVER SOLDERED JOIMT
POTENTIAL CONMECTION — M4 CH. HD. BRASS SCREW w/ WASHER

AMP BAILLI-CHHIRA

Sl (U1 500
BalaiaL) L1250
7SO0 100

MOTE : ALL DIMENSION ARE M kb, DIMEMSIONS: SUBJECT TO CHANGE WITHGUT MNOTICE




SUMO 7"ormV SHUNTS
f TOKAMP ﬁ

MOTE

N

7.0 micro—ohm

A20.5 x Brnos.
7%
BRASS BLOCK
o — MANGARIM RIBEOM
M — SILVER SCLEERED JOIMT
g — FOTEMTIAL COMMECTION — M4 CH. HO., BEAS: SCHEEW WfW.ﬂ.SHEH
ALL DIMEM=ION ARE 1M MR, CIMEMSIONS: SUBJECT TO CHAMGE WITHOUT MOTICE

/




SUMO 7P5mV SHUNTS
f 1 5KAMP ﬂ

200 micro—ohm

A20.59 x 12n0s,

BRASS BLOCK
b - tANGANIN  RIBBOM
I — SILVER SOLEGERED JOIMT
T = POTENTIAL COMMECTION — M4 CH. HD. BRASS SCREW w/WASHER
MOTE @ ALL DIMEMNSION ARE M k. DIMENSIONS:  SUBJECT TO CHANGE WITHGUT MNOTICE

. %




	1ST-5amp to 1000amp
	2ND-1200amp to 3000amp new
	3RD-5000amp to 7500amp
	4TH-10KA
	5TH-15KA

